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General Instructions :

()
(1)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries T mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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Rinderpest was a fast spreading cattle disease that had an impact on the life and
economy of the people of :

(a) 5. America (b} Europe
(€)  Australia (d)  Africa
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Who, among the following, improved the steam engine produced by New
Comen ? _

(@) Mathew Boulton (b)  James Watt

() Henry Ford (d)  Grahm Bell
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Which one of the following statements is correct about the Annual London
Season ?

(a) It was meant for wealthy Britishers only

(b) It was organised for the working class

(© It was organised for the exchange of news

(d) It was organised for political action

B 868 H§ Ul S F1 T GO 0T &
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The oldest Japanese book printed in AD 868 is :
(a) The Golden Sutra (%~  The Diamond Sutra
{c} Almanac (d) Ukiyo
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Induleka, was the first modern novel in Malayalam written by :

- (a)  Chandu Menon (b)  Benjamin Disraeli
{c) Kandukuri Viresalingam (d)  Rokeya Hussein
frefatas sl § A fege gy sl & =9 3§ ariiea e = 82 . |
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Which one of the following species is classified as vulnerable ?
(@)  Lion tailed macague foy  Asiatic elephant
(<) Desert fox {d) Pink headed duck
foretfermas Tdl 8 @ FE T 1 HE 95 SR § 7 1
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Which of the following states is the largest producer of ragi ?
(a) Karnataka (b} Rajasthan
(€) Tamil Nadu (dy~ Gujarat
Hfeeram o wgdEs A frraian 3 § S e aed €2 1
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Majority of the people in Belgium speak which one of the following languages ?
{a) French ' b) Dhutch
() German (d) English
Frerfafen 29 & & Fras! SR 1 96g w9 7 87 1
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Which one of the following countries does not have a federal form of
government ?
(a) Australia (b) Germany
(c) Spain (d}y— Nepal
e o e T 8, 5@ g A Frefefen werl ¥ 3w e 12 1
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Which one of the following statements about India as a secular state is correct ?
(a)  There is no official religion
by There is freedom to profess, practice and propagate any religion
(<) There is a no special status to any religion
(d)  All the above statements.
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Which one of the following is the basis to measure the development of a country
according to the World Bank 7

(@)  Literacy Rate (6}  Per CapitaIncome

{c) Gross Enrolment Ratio (d)  Life Expectancy
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Which ane of the following states has the highest per capita income 7
(a) Haryana (b)  Rajasthan

i)  Punjab (d)  Bihar
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Choose the odd one out from the list of occupations.
{a) Doctor (&) Potter
{c) Teacher {d) Scientist
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Explain the impact of the Great Depression of 1929 on the Indian economy.
317ET/OR
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Who were the Gomasthas ? How did they help the East India Company to assert
a monopoly right to trade ? Explain.
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Explain any three reasons for calling Bombay (Murmbai ) as the "City of Dreams’.
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How did printing create a new world of debate and discussion ? Explain any

' three points.
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Who wrote the novel ‘Pariksha Guru "7 Explain any two features of it

Ix1=3

1+2=3

Ix1=3

Ixi=3

1+2=3
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Name the soil type which is widely found in Western Rajasthan. Explain two
important characteristics of this soil type which makes it unsuitable for

© cultivation.
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Differentiate between Extinct and Endangered species. Illustrate your answer
with suitable examples.
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In recent years why have Multi Purpose Projects come under great scrutiny and
opposition? Explain three reasons. '
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How is rain water harvesting practised in Rajasthan ? Explain.
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Explain how power is shared in modern democracies.
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Social divisions of one kind or the other exist in most countries. Explain with
examples.
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Differentiate between overlapping and cross cutting social differences in society.
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Why does Kerala have a better human development ranking in comparison to
that of Punjab ? Explain three reason.

ﬁmaﬁa&mawﬁﬁﬁﬁﬁmﬁnﬁﬁ%ﬂﬁﬁmuﬁﬁmmﬁﬁm
Differentiate between the public and private sectors in an economy with
examples. : :

it Sl STETEE S & FE FO S Qs ) ger i

Compare the working conditions in the organized and unorganized sectors .

W@W%Wﬁn%ﬁm%w%mmmmw

i |
Describe for the factors that led to the end of the Bretton Woods system and the
beginning of Globalisation.

1+2=3

ix1=3

3x1=3

Ix1=3
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Describe any five methods adopted by the British manufactures to take over the
Indian market in the beginning of twentieth century.
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Describe the life of people who lived in the chawls of Bombay (Mumbai )
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What was the “reading mania” ? What was its impact on children, women and
workers ? :
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Describe ‘any five changes in technology and society which led to an increase in
readers of the novels of the eighteenth century Europe.

w9F H 1y 5 gEn & Yeies e w v o
E!aboraﬁé-‘upun the historical growth of Hand printing in Japan.
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Differentiate between the ‘epistolary’ novel’ and ‘serialised novels’. How did
innovations in marketing increase readership ?
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Explain any five reasons responsible for the introduction of Technological and .
Institutional Reforms in Indian Agriculture.
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oig Yy T 98 Hifea |

How did the Constitutional Amendments of 1992 empower the local government
inIndia ? Explain any five provisions.
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5x1=5

243=5

5x1=5

3+2=5

5x1=5

5x1=5

1+4=5
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